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Guaranteed! NEW QUESTION 1 - NEW QUESTION 10: 1.|2016.08 New 2V0-620 Exam Dumps(PDF & VCE) 205Q&As

Download:http://www.braindump2go.com/2v0-620.html 2.|2016.08 New 2V0-620 Exam Questions & Answers:
https://drive.google.com/folderview?id=0By4UOHgxZ9SUTms2VTVfNnJsZmM&usp=sharing QUESTION 1Which three VLAN

Tagging modes are available in vSphere 6.x? (Choose three.) A.    External Switch TaggingB.    Private VLAN TaggingC.    Virtual

Switch TaggingD.    VXLAN TaggingE.    Virtual Guest Tagging Answer: ACE QUESTION 2An administrator wants to add a web

server to an existing multi-tier application consisting of three virtual machines:A web serverA database serverAn application server

The web server should be added to the application when the primary web server reaches:70% vCPU utilization55% active memory

Which option will achieve this result? A.    Create a virtual machine alarm with an action to run a script that starts a new instance of

the web server.B.    Create a host cpu and memory alarm with an action to run a script that starts a new instance of the webserver.C.  

 Configure HA application monitoring for the web server and set it to trigger deployment of a new instance of the web server.D.   

Configure Fault Tolerance on the virtual machine and leave the secondary machine disabled until needed. Answer: A QUESTION 3

A user is trying to retrieve objects from a SharePoint server and finds the request is taking an excessive amount of time. An

administrator tries to isolate the issue and notes the following:- Application performance is poor when compared to virtual machines

on other hosts.- Performance improves when the virtual machine is moved to another host. The virtual machine encounters higher

than expected CPU %Ready times.What conclusion can be reached regarding the performance issues for this virtual machine? A.   

Host Power Management is directly impacting virtual machine performance.B.    The virtual machine has a large number of

snapshots.C.    The Path Selection Policy for the storage device is set differently on the affected host.D.    Network I/O control is

configured for the portgroup. Answer: A QUESTION 4Which three are architecture components of vRealize Operations? (Choose

three.) A.    Identity ServerB.    Administrative ServerC.    Analytics ServerD.    Database ServerE.    Connection Broker Answer:

BCD QUESTION 5Which load balancing policy, previously limited to vSphere Distributed Switches, is now available on vSphere

Standard Switches with vSphere 6.x? A.    Route based on physical NIC workloadB.    Route based on IP HashC.    Route based on

the originating virtual portD.    Route based on Source MAC Hash Answer: A QUESTION 6An administrator is attempting to

enable Storage I/O Control on a datastore, but it is failing.What is the likely reason for this failure? A.    The host is connected to a

datastore is running on ESX 4.0.B.    The host is connected to a Fibre Channel storage array.C.    The datastore has multiple extents.

D.    The datastore is managed by a single vCenter Server. Answer: A QUESTION 7An administrator is unable to create the first

group in a new vRealize Operations environment.What is the likely cause of the problem? A.    There are no group types defined.B.  

 The group is not defined in SSO.C.    There are more than 32 group types defined.D.    The description for the group is not

provided. Answer: A QUESTION 8Refer to the Exhibit. An administrator has configured a host profile so that ESXi 6.x hosts will

point to the corporate NTP server for time synchronization. The NTP server is located at 10.0.30.213, but time has not been

synchronized properly across the ESXi hosts.  

 The administrator reviews Host Profile settings as shown in the Exhibit.Which two steps are required to resolve the issue? (Choose

two.) A.    Correct the NTP server IP address.B.    Check the host for host profile compliance.C.    Remediate the host based on the

updated host profile.D.    Change the NTP server to the FQDN as IP Addresses are not supported. Answer: AC QUESTION 9Which

two Virtual SAN related actions might start resynchronization of virtual machine objects? (Choose two.) A.    Editing a virtual

machine storage policy to increase the number of replicas.B.    Editing a virtual machine storage policy to reduce the number of

replicas.C.    Editing a virtual machine storage policy to increase the number of disk stripes.D.    Editing a virtual machine storage
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policy to reduce the number of disk stripes. Answer: AC QUESTION 10An administrator has just completed installing an ESXi 6.x

host, but doesn't know what address has been configured.Where is the ESXi host IP address configured? A.    RVC consoleB.   

Direct Console User InterfaceC.    vSphere Web ClientD.    vSphere Client Answer: B   !!!RECOMMEND!!!  
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